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The International Standard Atmosphere can be described as (A) the
atmosphere at 45 degrees north latitude. (B ) the atmosphere at the
equator with certain conditions. (C) the atmosphere which can be
used worldwide to provide comparable performance results.
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The air consists of (A ) 909 oxygen, 69 nitrogen and 496 other
gases. (B) 789 nitrogen, 2096 hydrogen and 29 other gases.
(C) 789 nitrogen, 219 oxygen and 195 other gases.
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In which condition the drag coefficient is minimum? (A) The angle
of attack is negative. (B) The angle of attack is zero. (C) Stall
angle.
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Asymmetric flaps will cause (A) the aircraft to descend. (B) the
aircraft to ascend. (C) one wing to rise.
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Sweepback of the wings will (A ) decrease lateral stability. (B) not
affect the lateral stability. (C) increase lateral stability.
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Given dynamic pressure of airflow in the tube, (A) dynamic pressure is
directly proportional to the square of airspeed only. (B) dynamic
pressure is directly proportional to air density only. (C) dynamic
pressure is directly proportional to the square of airspeed and air




density.
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As to the boundary layer, which statement is incorrect? (A) The
thickness of boundary layer becomes thicker along the airflow
direction. (B) The flow speed in the boundary layer is zero over the
wing surface, and the speed gets faster outward along normal line. (C)
The flow speed keeps constant in the boundary layer.
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With increase in altitude, the static pressure in the troposphere will (A)
decrease with altitude, but not in a linear manner. (B) increase with
altitude, but not in a linear manner. (C) increase with altitude, the rate
of decrease is linear.
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The kinematic viscosity is the ratio of the coefficient of viscosity and
the (A) pressure. (B) density. (C) velocity.
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While an airplane is with Dutch roll, (A) its directional stability is
weaker than its lateral stability. (B) its directional stability is stronger
than its lateral stability. (C) its directional stability equals the lateral
stability.
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The fuselage form factor is a function of the (A) fineness ratio of the
body. (B) aspect ratio. (C) glide ratio.
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The function of the winglet is (A) to reduce friction drag. (B) to reduce
pressure drag. (C) to reduce induced drag.
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If gauge pressure on a standard day at sea level is 25 PSI, the absolute
pressure is (A) 39.7 PSI. (B) 10.3 PSI. (C) 20.5 PSI.
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What is the speed that would be shown by an error-free airspeed
indicator? (A) IAS(Indicated Airspeed). (B) CAS(Calibrated
Airspeed). (C) EAS(Equivalent Airspeed).
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Which statement is wrong? (A) Instability of side drift is prone to
occur when the airplane flies in high AOA(Angle of Attack). (B)
Providing directional moment and lateral moment do not coincide well,
lateral drift would occur. (C) The cause of lateral drift is that
longitudinal moment and lateral moment do not coincide well.
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When an incompressible flow passes through a tube, it is known that
cross-sectional area “Al=2A2 = 4A3.” How about the (flow speed)
static pressure? (A) P1L=P2=P3 (B) P1>P2>P3 (C) P1<P2<P3
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An untapered straight wing will (A) have no yaw effect in banking. (B)
stall at the root first. (C) have no change in induced drag in the bank.
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As to stall characteristic of sweptback wings, which statement is
correct? (A) The nose auto-pitches down when stall occurs around




wingtips before wing roots, which results in high-AOA stall. (B) The
effective speed which can generate lift force increases, and it impairs
stall characteristic of sweptback wings. (C) Wing fence installed on the
wing’s surface should improve stall characteristic of sweptback wings.
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The change of airflow along boundary layer over the surface of the
wing is (A) from turbulent flow to laminar flow. (B) from laminar flow
to turbulent flow. (C) no change.
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Weight balance of control surface may be achieved by (A)
concentrating the counterweight but this method should aggravate
flutter of the flying controls. (B) distributing the counterweight but this
method would add the drag. (C) distributing the counterweight and this
method is generally used in high-speed airplanes.
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With increase in altitude in the atmosphere, then (A) pressure
increases, density decreases. (B) pressure decreases, density increases.
(C) pressure decreases, density decreases.
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Wing loading is calculated by weight (A) divided by lift. (B) divided
by gross wing area. (D) multiplied by gross wing area.
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angle of attack is known as optimum angle of attack. (A) 5 to

7 degrees (B) 3to 5 degrees (C) 10 to 12 degrees
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